0.05]

-0.05

Ratiq

<op/p. > (%)

<3 @> (rad)
o
=
(6)]

X
N

0—3

W

-2 -1 0 1 2

3

TP n (PCA to beamline)

10

Ratl

0.1 A
F T
0.05k - ......
OFt -
-0.05ft -
-0.1 .....
-0.15F ISUURR SRR oo 1 | ¥
BP0 11 IV P PRI I Y | N TP
3

< d cot(B) >
o
[
[6)]

x1073

0.95!

-1 0 1 2 3
TP n (PCA to beamline)

-2

—— DQM_TT__mkFit-DQM_newfast132

—=— ././CMSSW_13_2_X_2023-05-08-2300/src/DQM_TT__mkFit-DQM_new132

0.95

(@)

TT T[T TTT

|
=
T

[y

T

-2 -1 0 1 2

3

TP n (PCA: to beamline)

Vo : **";b*++

T

2 -1 0 1 2

3

TP n (PCA- to beamline)

8

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


